[image: C:\Users\User\Desktop\ПИТАНИЕ\МЕНЮ с САЙТА НИИ\меню Эксель на 23-24 уч.год\3 день\IMG-20230913-WA0000.jpg]
[bookmark: _GoBack]	[image: C:\Users\User\Desktop\001.jpg]
image1.jpeg




image2.jpeg
= S

MEHIO

« /p » /A&ég/,é 20’1%

3asTpax 7-11 jer (3 enn)

Ne . baono
I | Ower narypasbiutii | 200 | 300.7
Yaii ¢ MOI0KOM 1
2| caxapon 200 509
3| Xueb nuieHnuHplit 20 46,9
4 | Xueb pixanoit 20 342
S| sl6noko. 100 44

[Tosap: %ﬁ%@.(D.MapKenosa

L

T
1

Boixon, r J Kanopuitnocers | beaku

16.9

1.6
L5
13
04

=

Hiipo

24

1.1
0,2

02
04 |

"\‘/mc}nlx, aie
O'B.Kononee
4

Yicsonn Crron \mcm]

3

Bl
U8

0.7
a8

6141




